o 12 o

13

HHEK

,

1.2

JIF1059-1999¢

9

1.3

425 C

0.1mg.

550+25°C

2

550+25°C

Img;
1%.

0.64%.

A= C(m2—mi )/ moX 100

510280)

550

30min,

0. Img.

0. 1mg,

30min,

(D



13 © 13 -
: Mo » 83 Uan )™ U ) = Um) =0.3mg
mi— s g5 10%9
mz2 s go
2.2 1/ (2X0.1)=50
. 2.3.2
mo mil , 10
m2 , , :0.65%.0.62%.0.67%.
0.61 %.0.64%.0.65%-0.64 %.0.63%.0. 66%-
, . 0.64 %.
lilm—;)
2.3 uGep) — 10_1 — 0. 02%
D .
9,
' ’ 2.3.3
H 2 ,
uw = CIA/ dn2 ) uter+ CA/ dni D utwn + 0.64% _, &
(A / o)’ uhuo + ulep @ R eTeg 1
A/ dn2=1/mo=0.5g
2.3.1 mo ~mi ~m2 4
A/ dn1= -1/mo=-0.5g
A/ o= (m2—m1)/ md=A/ mo
' —0.64%/2=0. 0032¢"
0.8mg( ), )4 0.6476/2=0. 0032¢
2~3 , :
)
0.5°0.3° , 0.50.3 ,0.0032°0.3" 2
o= .0002>=0. 03¢
um I\J 1000° \ 10007 1000° ~0.000 0.03%
_ uﬁ(A)
Y ouw))t (aun))t )t L,
sz sz sz n— 1
_ 0.0003"
(0.0005X 0.3)4+<0.0005>< 0. 3>4+<0.0005>< 0.3>4+0. 0002*
50 50 50 9
~5()
2.5 3
p=95%. Vdf =
50, ¢ kp,=2.01 0.64 % 0.06%,
0.08 %,

Uos=2.01X0.03%=0.06%



